Efficiency vs P,

0.1

0.09
0.08
0.07
0.06
0.05]
0.04
0.03
0.02
0.0

Ja'

...........................................

ks
ol

............................................

............................................

........................................

VS

0.95

107 1 10 10? 10°

—=— DQM_TT__mkFit-DQM_orig2
—e— DQM_TT__mkFit-DQM_mod2

0.09F
0.08F
0.07F
0.06fr
0.05]
0.04
0.03
0.02
0.0

Vel

........

T T T T [ TTTI[TTTT[TTTT[TTIT[TTTT]

0.95

|
w

Efficiency vs ¢

0.1

0.09
0.08
0.07
0.06)
0.05
0.04
0.03
0.02

0.02f-

J!JJJJ!JJJJ!JJJJ{JJJJ{!J!J{J!J!{!J!!{!!!!




	Contents
	Page 1


